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UKPSC-2012 (Mains) (G.S Paper-V)
aTTfYier Ua wmHTIeh Tawma
(ECONOMIC AND SOCIAL DEVELOPMENT)

9qMT-1/Part-1
Marks—30/37eh—30

e ;3@ 9§ H 15 9§ gl wed st @) yes ye % T 02 ofw fawifa )

Note: There are 15 questions in this part. All questions are compulsory. Each question carries 02 marks.

1. ‘feg forehra <0 01 €2 F€ RO e & 2 [ 3T € 20 ¥ ]
What is ‘Hindu Growth Rate’? Who has given this concept? [Answer Limit : 20 Words]

2. A qeAd AR = A 22 [ 3T HEn: 20 I |
What do you mean by International Liquidity? [Answer Limit : 20 Words]

3. ©16] @1 % S Y 3 1 GHS 22 [ SR dH1: 20 915 ]
What do you understand by Current Account Deficit? [Answer Limit : 20 Words]

4, % WHR & I AT & da farad [ SR dH: 20 =% |
Write two revenue sources of the Central Government. [Answer Limit : 20 Words]

5. ‘diced ford o’ % oAy & a9 H faa= SifeE [ ST €4 : 20 v ]
Discuss about the Chairman of 14" Finance Commission. [Answer Limit : 20 Words]

6. ‘<fifa’ st W 22 [ ST dHm: 20 9% |
What is “NITT” Commission? [Answer Limit : 20 Words]

7. 9Na & fafa &s w7 et i wg@ it i s [ ST G 20 9T |
State any three important challenges of India’s export sector. [Answer Limit : 20 Words]

8. T fson sl ufamness fafer @ evert & e 82 [ 3T T 20 T ]
What do you mean by quantitative methods of credit control? [Answer Limit : 20 Words]

9. gl qEESTg AieEl % GEE iR wgel deediE Ao % U | A au % S & HRN i o
FIf| [ 3T HH: 20 ¥R |
List reasons for the gap of three years between the termination of the Third Five Year Plan and the beginning

of the Fourth Year Plan. [Answer Limit : 20 Words]

10. 9Ra fefor & ©: w2 @ 7?2 [ ST G4 m: 20 9% |
What are the six components of Bharat Nirman? [Answer Limit : 20 Words]

11. 9Na § SE &1 ‘S9En enenfiq affetor’ &9 g 872 [ ST €4 : 20 v ]
How is ‘use based classification’ of industries in India? [Answer Limit : 20 Words]

12. HESA FEAA A BT 872 [ ST dH: 20 38 ]
What is cropping intensity? [Answer Limit : 20 Words]
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13. ITEUE U9 & U AN SR F59 A & wm w9 fem ®, @ AW fafed

[ 3 HH 1 20 3 ]
Name Panch Prayag and the rivers on whose confluence they are situated, of Uttarakhand State.
[Answer Limit : 20 Words]

14. et e T ufag =2 [ 3T € 20 T ]

What for is Auli famous? [Answer Limit : 20 Words]

15. 2 (HIg) et 1 2?2 [ STR HEn: 20 I |

What is Yartsa-Gumba/cordyeeps sinensis/keeda jadi? [Answer Limit : 20 Words]
AMT-2 /Part-2

Marks-50/37h-50
I ;3@ 9§ A 10 A &) Gl ged e #) wee e & ferd 05 o fawifa ?

Note: There are 10 questions in this part. All questions are compulsory. Each question carries 05 marks.

16. 3T e =i aftifog #IfSd ik sUs 9o SEva &1 gHeed [ ST/ HEn: 50 9 |

Define economic planning and explain its basic objective. [Answer Limit : 50 Words]

17. 1991 ¥ ¥Rd &1 MR ifqd ¥ YIRRSE I3 T H3d | § forgl d9 H1 o

[ 3T HHET: 50 T |
Explain any three reform measures that have been introduced in India’s trade policy since 1991.
[Answer Limit : 50 Words]

18. foceft faftaa yerem stfufrag (war) o g Sifed [ 3T M= 50 K ]
Throw light on Foreign Exchange Management Act (FEMA). [Answer Limit : 50 Words]
19. god afgd X (32) 1 oA SifsEl [ SR @4 : 50 9% ]
Explain Value Added Tax (VAT). [Answer Limit : 50 Words]
20. W@ G § 9T 1 TG €2 [ ST HEn: 50 9 |
What do you mean by credit creation? [Answer Limit : 50 Words]
21. ¥4 &1 ol qRed-iga § o9 = gue ©? [ S dH: 50 3% ]
What do you understand by full convertibility of rupee? [Answer Limit : 50 Words]
22. THIUT STEE & GEuE YsHR AR SE w1 feoeror i [ S EEn: 50 9 ]

Give an account of the extincting occupation and industries of rural Uttarakhand.
[Answer Limit : 50 Words]

23. T &t BeE $fa A guet wfafaai s = iy 22 [ 3T HEn: 50 9 |
What is the role of Mandi Committees in the plain agriculture of the State? [Answer Limit : 50 Words]
24, AT referaen | SfEifis €M & HRON H1 AR HISI [ S<R HmEn: 50 3 |
Explain the causes of industrial sickness in the Indian Economy. [Answer Limit : 50 Words]
25. Gad faa & & | e 1 i w1 qh& S [ 3 € 50 IR |
Examine the role of NABARD in Micro Finance. [Answer Limit : 50 Words]
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qT-3 /Part-3
Marks-40/3Ter-40

e ;39 9 H wat 07 we &1 eremedf TRl 05 gl 1 S )| yE g & fed 08 3k fawffa 2

Note: There are 07 questions in this part. Candidate should attempt any 05 questions. Each question carries
08 marks.

26. ‘I SE’ A1 82 STEUS 1 36 W Sl fehe Hotgd €2 [ SR &M 125 91 |
What is ‘Green Bonus’? How strong is the claim of Uttarakhand for it?
[Answer Limit : 125 Words]

27. ‘foede’ #0182 3 T § Thd WehR USTR SFeei i gior feman 272 [ 3T HM@: 125 9K |
What is SIDCUL? How has it generated the employment opportunities in the State?
[Answer Limit : 125 Words]

28. STEUS T | Sol-fagd scareq @ §e foar & €2 [ 3T HMHE: 125 9K |
What are the disputes related to the Hydro-electric generation in the Uttarakhand State?
[Answer Limit : 125 Words]

29. foga AR GMEH &1 TG 940 g2 22 THeR! TN § ffed Ufhen i gew § fated
[ 3 HH 1 125 918 ]
Why has World Trade Organisation been formed? Explaing in brief the process involved in its formation.
[Answer Limit : 125 Words]

30. IR F THEA TG Ud Iegehdl fag i guEsd| [ 3T M 125 9= |

Explain the Canon of equality and Canon of productivity in taxation. [Answer Limit : 125 Words]

31. 2000-01 § 2013-14 %! @y H ¥R & =9 ¥ AWK | Jfg * e wifd| 9Ra § =4 & =i

1 Hereadrd o 22 [ ST €4 125 9% |

Discuss growth in India’s trade to China during 2000-01 to 2013-14. What are the potentials for India’s export

to China? [Answer Limit : 125 Words]

32, U SISIR Heiferd ALfeqereen 1 o 31 82 TRl HuAl = 82 [ S € : 125 O |

What is meant by a market driven economy? What are its drawbacks? [Answer Limit : 125 Words]
HAT-4/Part-4

Marks-80/37eh-80
e ;39 9 H et 07 g &1 eremedl TRl 05 ge 1 S <) yE 9w & fed 16 3 Freifa €

Note: There are 07 questions in this part. Candidate should attempt any 05 questions. Each question carries

16 marks.

33. GTHR Wi el fifd & Sl & &9 § qoehE Aifd ue difgen i Th-gm w1 W gl 21 5

FHUT HI TR [ SR | 250 T ]
As instruments of economic policy of the Government fiscal policy and monetary policy are complimentary
to each other. Explaing this statement. [Answer Limit : 250 Words]
34, T ™ Hi WO H1 Y@ faft=l w1 auie St [ ST HHT: 250 9% |
Discuss the main methods of measuring National Income. [Answer Limit : 250 Words]
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Are Tt geEehish (HDI) & Wq@ feien] o1 qewr sifsel| 9Ra & fagi ged § &F o 9od yq@
T R [ SR T 250 ¥ |

Identify the main determinants of Human Development Index (HDI). With special reference to India, which
is most important and why? [Answer Limit : 250 Words]

Tfgell efereiol § 1 E 22 1 SIEvs § TR SR UM g=Edl § 39! wriedt 9gq @ =4 fawn

o wfa g5 @72 [ S € 250 T ]
What is meant by Women Empowerment? Has their greater participation in town and village panchayats in
Uttarakhand, made a progress in this direction? [Answer Limit : 250 Words]

el T2 & A T | ST %Y S ol ¢2 TRl YR &1 Afqal w1 e wif
[ 3T M@ 250 IR |
How is disequilibrium created in Balace of Payments of a nation? Explain policies to correct it.
[Answer Limit : 250 Words]

TGRS HIHG G @ A Sy 87 9 39 Wil w0 H ¥ 9§ Welldied i T

ANIYE, SHTHE S ST Fehall B [ S EHr: 250 9T |
What is meant by value addition through processing? Can fruit production be made a profit making industry
through adopting this technology in the State? [Answer Limit : 250 Words]

T onffer Hifa & ufed § 9ra § enfefn fism #1 gfen aaqsd oiR goaig s

[T M@ 250 IR |
State and evaluate the role of economic planning in India under the new economic policy.
[Answer Limit : 250 Words]

641, First Floor, Mukherjee Nagar, Delhi-09
Contact- 87501 87501

; The Vision ‘Website: www.drishtiias.com, Facebook : https://www.facebook.com/drishtithevisionfoundation




